工數2004第三次平時考 (Chap 2.11~2.15)
12/15/04 

           (close book)

學號:               姓名:

1. (30%) Find the solution of the following equation. What are the transient solution and steady-state solution? State the time when the solution practically reaches the steady state (say, the amplitude of transient response becomes less than 10% of its initial value)?
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2. (35%) Find the current in the RLC-circuit shown below for R = 80 ohms, L = 10 henrys, C = 0.004 farad, E = 240.5 sin(10t), assuming zero initial current and charge.
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3. (35%) Solve the following initial value problem:
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